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1 <Question 1> , 4
(F%EB)
| <@uestion 2> |3 [1] [TDWVTIE, HEMBEOEERICEC 4
(F1) T 4
(P2} more than thirty #71_ :
5 (73] different 4
(F14) 7 4
(795) 7 4
(Fi6) T 4
(FA1) W/ 4
(F12) A 4
(F413) 7 4
(R94) education 4
(R5) 4 ' 4
(Fi6) 7 4
(A1) important 4
(F92) = 4
(F3) x 4
(f4) 7 4
(F15) A 4
(7E6) R 4
(EEZHD 8
For example, Meg and many Japanese people close the
bathroom door when they leave the bathroom, though Judy and
(F7)
many Americans don't close the bathroom door after using
the bathroom. But both of them have good reasons to do so.
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